EARAROBEEIERT — 2 N— IBISH —F

20185F7H20H (&) 9EEHE4H

R 2 BHE P IR2E

[xwlw | 1mEmml - |5 5 s &

[A~&E£] 17 :1,300,000  ~ 23 :325,000 M  37&:156,000 F

4 7% 104,000 B 5 7& :65,000 F

B\ ®RBE BEBR M MHE BF (FE) g4 L (&%) | BBIER | EOF SR | AR | HhE | BRE (FIR) / BE / £ERS
s 2 | AEBSE 49.4 1-1 . - 1 442 | BHZE (BHE)
1111 7v7¥aw # 54.0 (=) 9 - HOIRT
iy RAN—=4 B:vFhx744 HE A
.= 9 _EaLHE . — . - MTEA (BHE)
olglg| FUTdTv* L 5420 4(92)8 2 % ’ (433) :’r'ﬁél_
L ZAv—hR—o B:Fvyx—H—-) VA ¢
N N 4 2 | KIEHE 50.8 3-3 371 — 2 395 | SEEZ (BHE)
3|55 F1E>a%F 54.0 (5) (—) |REZRM
L:ELTFAVY BFAIU-Fv pNCTie]
a7l 7| I XTS o2 | TR 2 55 380 — | 6 <4i2) {g;ﬁ% (BEE)
LNNVTZY B EAX Lagitie ]
S 4 2 | ETHE 52.5 4-4 38.7| — 4 434 | HLYE (BHE)
5 2 70X0-— K ¥¢53.0 (1 1/2) (=) |IEEE=
Rib—t>y3—4> B:ILH>FID MEX %Y K
- BiBEE . — . - HLEE (BHE)
6 4 S N— R 4 2 54.05 5(35)6 8-7 37.7 8 (458) e
LihoN=— B:FLT—RKIbol e
S 72 =2 s 2 | SHEKX 53.8 6-6 8.8 — 7 40 |SRREX (BHE)
7 6 El\Z\X—. % 55.0 (1 1/2) (=) $8 R H i
L:ANXRZXTNYT B E-XATTU— 2 itve ]
¢ 2 | DNEEEE— - - = = BHEE (BHE)
* L ARA I A i 54.0 (eh1b) 8 S (411) e
L:TVHA XTI R BN—Ov X HT BEE
® I —F—@EBIERL
13—7—
23— —
G§a=7r= 1,8,5,2,7,6,3,4
43—+ — 1,8,5,2,7,6,4,3
[ F/N=5
B OB 1 1609 714K 1-8 160M B E 1-8 470M &R 1-5-8 400M
8 B 1 1009 55 200 B H 1-8 850 JEH 1-8-5 2,200/
8 1204 5-8 230M
6 110

ABICOVWTRDTEEERROODE. TR LIV,




